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1. Which factor facilitate by Global warming that causes sea level increase? 

(a) Melting of ice glacier .. 

(b) Melting of floating ice shelf 

(c) Increasing the oceanic circulation 

2. What causes sea water layering? 

(a) Density differences between water masses 

(b) Waves 

(c) Evaporation and precipitation 

3. What is the main reason that oceans can absorb a large amount of solar energy without si$nificant 

increases in temperature? 

(a) There is a huge volume of seawater. 

(b) The Heat capacity of sea water is relatively high 

(c) The large amount of salt in sea water. 

4. Which following statement is correct? 

(a) The pH of ocean water is usually lower than 7 

(b) Warm water means more productivity. 

(c) The concentration of chlorophyll in the surface layer (> 1Om) is higher than in sub layer (20-50m). 
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